CONTRACT



WPDH-FM 2 Pendell Road Poughkeepsie, NY 12601 (845) 471-1500

And:

Annie Rabbitt For Senate 7 West Broome Street Port Jervis, NY 12771

	Contract / Revision	Alt Order #
	731760 /	
<u>Advertiser</u>		Original Date / Revision
Annie Rabbitt For Sen	ate	10/12/18 / 10/12/18
Contract Dates	Estimate #	1
10/15/18 - 11/06/18		
Product		
NYS 42nd		

Billing Calendar Billing Cycle Cash/Trade EOM/EOC Calendar Cash Property Account Executive Sales Office WPDH-FM House Poughkeepsie Local Poughkee Special Handling Demographic Households Agy Code Advertiser Code Product 1/2 Agency Ref Advertiser Ref

WPDH-FM - 731760A	Start/End	Spots/			
*Line Ch Start Date End Date Description	Time	Days Length Week Rate	Time	C4-	
N 1 WPDH 10/15/18 11/06/18 M-F AM Drive	6a-10a	1:00		Spots	Amount
Start Date		1.00	NM	23	\$2,875.00
vveek: 10/15/18 10/21/18 11111 5	\$125.00		- 1		
Week: 10/22/18 10/28/18 11111 5	\$125.00		- 1		
Week: 10/29/18	\$125.00		- 1		
1771710 14	\$125.00		- 1		
N 2 WPDH 10/15/18 11/06/18 M-F Midday	10a-3p	1:00	NM	23	¢2 700 00
Start Date End Date Weekdays Spots/Week Week: 10/15/18 10/21/18 11111-	Rate		INIVI	23	\$2,760.00
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	\$120.00				
Model 40/00/40 44/04/40 44/04/40	\$120.00		- 1		
Mode: 44/05/40	\$120.00		- 1		
	\$120.00				
The state of the s	3p-7p	1:00	NM	19	\$2,375.00
Meek: 10/15/10 10/04/40 11111	Rate				42,070.00
Week: 10/13/18 10/21/18 11111 5 Week: 10/22/18 10/28/18 11111 5	\$125.00		- 1		
Week: 10/29/18 11/04/18 11111 5	\$125.00 \$125.00		- 1		
Week: 11/05/18 11/11/18 4	\$125.00 \$125.00		- 1		
N 4 WPDH 10/15/18 11/05/18 M-F Evening					
Start Date End Date Weekdays Spots/Week	7p-12a	1:00	NM	19	\$1,235.00
Week: 10/15/18 10/21/18 11111 5	<u>Rate</u> \$65.00		- 1		
Week: 10/22/18 10/28/18 11111 5	\$65.00		- 1		
Week: 10/29/18 11/04/18 11111 5	\$65.00		- 1		
Week: 11/05/18 11/11/18 4 4	\$65.00		- 1		
N 5 WPDH 10/15/18 11/04/18 M-Su Broad Rotator	6:00 AM-7:00 PM	4.00			
Start Date End Date Weekdays Spots/Week	Rate	1:00	NM	15	\$1,200.00
Week: 10/15/18 10/21/18 MTWTFSS 5	\$80.00		- 1		
Week: 10/22/18 10/28/18 MTWTFSS 5	\$80.00		- 1		
Week: 10/29/18 11/04/18 MTWTFSS 5	\$80.00		- 1		

(* Line Transactions: N = New, E = Edited, D = Deleted)

Totals

\$10,445.00

99

Estimate #



WPDH-FM 2 Pendell Road Poughkeepsie, NY 12601 (845) 471-1500

	Contract / Revision 731760 /	Alt Order #
Advertiser		Original Date / Revision
Annie Rabbitt For	Senate	10/12/18 / 10/12/18

Product

NYS 42nd

Time Period	# of Spots	Gross Amount	Net Amount
10/01/18 -10/31/18	65	\$6,695.00	\$6,695.00
11/01/18 -11/06/18	34	\$3,750.00	\$3,750.00
Totals	99	\$10,445.00	\$10,445.00

WZAD-FM - 7317	60B			Start/End		Spots/				
*Line Ch Start Da		ate Description	on	Time	Days	Length Week	Rate	Type	Spots	Amount
N 1 WZAD 10/15/18			rive	6a-10a		1:00		NM	32	\$960.00
	End Date	Weekdays	Spots/Week	<u>Rate</u>					02	Ψ900.00
	10/21/18	MTWTF	8	\$30.00						
	10/28/18 11/04/18	MTWTF	8	\$30.00						
	11/11/18	MTWTF	8	\$30.00						
		MT	8	\$30.00						
N 2 WZAD 10/15/18			,	10a-3p		1:00		NM	32	\$960.00
	End Date 10/21/18	<u>Weekdays</u> MTWTF	Spots/Week	Rate				- 1		
	10/21/18	MTWTF	8	\$30.00				- 1		
-	11/04/18	MTWTF	8	\$30.00				- 1		
	11/11/18	MT	8 8	\$30.00				- 1		
				\$30.00						
N 3 WZAD 10/15/18				3p-7p		1:00		NM	32	\$960.00
	End Date 10/21/18	Weekdays	Spots/Week	Rate				- 1		,,,,,,,
	10/21/18	MTWTF	8	\$30.00						
		MTWTF	8	\$30.00						
	11/04/18 11/11/18	MTWTF	8	\$30.00				- 1		
		MT	8	\$30.00						
N 4 WZAD 10/15/18			9	7p-12a		1:00		NM	32	\$480.00
	End Date 10/21/18	Weekdays	Spots/Week	Rate						¥ 100.00
		MTWTF	8	\$15.00				- 1		
	10/28/18	MTWTF	8	\$15.00				- 1		
	1/04/18 1/11/18	MTWTF MT	8	\$15.00				- 1		
			8	\$15.00						
N 5 WZAD 10/15/18				6:00 AM-7:00 PM		1:00		NM	32	\$640.00
	End Date	Weekdays	Spots/Week	Rate						ΨΟ 10.00
	0/21/18	MTWTFSS	8	\$20.00				- 1		
	0/28/18	MTWTFSS	8	\$20.00				- 1		
	1/04/18	MTWTFSS	8	\$20.00				- 1		
	1/11/18	MT	8	\$20.00						
N 6 WZAD 11/05/18			-	6a-10a		1:00		NM	8	\$240.00
	nd <u>Date</u> 1/11/18	Weekdays 44	Spots/Week 8	<u>Rate</u> \$30.00					Ū	Ψ2-10.00
N 7 WZAD 11/05/18	11/05/1	8 M-F Midday	,	10a-3p		1.00				
	nd Date	Weekdays	Spots/Week	Rate		1:00		NM	4	\$120.00
	1/11/18	4	4	\$30.00				- 1		
N 8 WZAD 11/05/18	11/05/1	8 M-F PM Dri	VA.	3p-7p		4.00				
_	nd Date	Weekdays	Spots/Week	Rate		1:00		NM	4	\$120.00
	1/11/18	4	4	\$30.00				- 1		
N 9 WZAD 11/05/18	11/05/18	8 M-F Evenin		7p-12a		4.00		_		
	nd Date	Weekdays	Spots/Week	Rate		1:00		NM	4	\$60.00
	1/11/18	4	4	\$15.00				- 1		
				Ţ.J.						
					Totals				180	\$4,540.00

Contract Dates

10/15/18 - 11/06/18

(* Line Transactions: N = New, E = Edited, D = Deleted)

(" Line Transactions: N = New, C = Edited, D = Deleted)

Notwithstanding to whom bills are rendered, advertiser, agency and service, jointly and severally, shall remain obligated to pay to station the amount of any bills rendered by station within the time specified and until payment in full is received by station. Payment by advertiser to agency or to service or payment by agency to service, shall not constitute payment to station. Station will not be bound by conditions, printed or otherwise contracts, insertion orders, copy instructions or any correspondence when such conflict with the above terms and conditions. Two week advance cancellation notice is required unless otherwise specified.



Time Deried

WPDH-FM 2 Pendell Road Poughkeepsie, NY 12601 (845) 471-1500

4 -40-4-

	Contract / Revision 731760 /	Alt Order #
Advertiser Annie Rabbitt For Ser	ate	Original Date / Revision 10/12/18 / 10/12/18
Contract Dates 10/15/18 - 11/06/18	Product NYS 42nd	Estimate #

10/01/18 -10/31/18 103 \$2,585.00 \$2,585.00 11/01/18 -11/06/18 77 \$1,955.00 \$1,955.00 Totals 180 \$4,540.00 \$4,540.00	Time Pellod	# or Spots	Gross Amount	Net Amount
Totals (100	10/01/18 -10/31/18	103	\$2,585.00	\$2,585.00
Totals 180 \$4,540.00 \$4,540.00	11/01/18 -11/06/18	77	\$1,955.00	\$1,955.00
	Totals	180	\$4,540.00	\$4,540.00

Contract Totals	279	\$14,985.00

Signature:	Date:

(check applicable box)

AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

Charles 3	nd Location:			Date:	
The state of the s	+ = wz	2 AD			
CHARLES OF SELECTION	re Duye				- legally
	date of the		MAN TO MAN THE REAL PROPERTY.		political
	fice of: 57				
in the	42 NO 1	Dismic	_		
election to be l	neld on:	NOV (ont.		
	est station time as fo				
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
		Selection Telephone			THE RESERVE OF THE PARTY OF THE

US8 T

CANDIDATE CERTIFICATION

In Order For Federal Candidates to Receive The Lowest Unit Charge During a Political Window, the Following Certification is Required:

	I, JESSE Duyon	
	(name of federal candidate or authorized committee) he to be broadcast (in whole or in part) pursuant to this ag	reby certify that the programming reement:
	□ does □ □ does not	
	refer to an opposing candidate (check applicable box). programming that does refer to an opposing candidate:	I further certify that for the
	(check applicable box)	
	the radio programming contains a personal audio identifies the candidate, the office being sought, a approved the broadcast.	statement by the candidate that nd that the candidate has
	the television programming contains a clearly identimage of the candidate for a duration of at least for displayed printed statement identifying the candidate broadcast, and that the candidate and/or the carpaid for the broadcast.	ur seconds, and a simultaneously
X		
	signature of candidate or authorized	committee
	JESSE DUITM	
	JESSE DW/cn printed name	10-12 -18 date
		uaic

I semment that the nave	nent for the above described broadcast time has be	en furnished by:
represent that the pays	RABBIT FOR SENA	TE
nd you are authorized to represent that this perso	o announce the time as paid for by such person or on or entity is either a legally qualified candidate of of the legally qualified candidate.	entity.
he name of the treasure	r of the candidate's authorized committee is:	
ROBENT	W SCHULTZ	
nd discount, promotiona	to me its political advertising policies, including al and other sales practices (not applicable to feder	eral candidates).
	NOT DISCRIMINATE OR PERMIT DISCRICTLY IN THE PLACEMENT OF ADVERTISIN	IMINATION ON THE BASIS
of race or ethnic	ed By Candidate or Authorize	IMINATION ON THE BASIS NG.
OF RACE OR ETHNIC	ed By Candidate or Authorize	IMINATION ON THE BASIS NG.
To Be Signe 10/12/18 Date	ed By Candidate or Authorized	imination on the basis NG. d Committee
To Be Signe 10/12/18 Date	ed By Candidate or Authorized Signature	imination on the Basis NG. d Committee
To Be Signe 10/12/18 Date To Be	Signed By Station Represen	IMINATION ON THE BASIS NG. d Committee tative

Copyright ©2011 by the National Association of Broadcasters. May Not Be Copied, Reproduced or Further Distributed

22 line also mones	mmunicates a message relating to any political many of the legally qualified candidate(s) the programme the date(s) of the election(s) (if applicable):	ming refers to, the
For programming that "cor	nmunicates a message relating to any political m	atter of national
importance," attach Agreed I represent that the paymen	nt for the above described broadcast time has be	en furnished by:
ANN	it RABBITT For Str	SATE
furnishing the payment, if o	nnounce the time as paid for by such person or other than an individual person, is:	
a corporation;	committee; an association; or other	unincorporated group.
agents of the entity are nam	dresses of the chief executive officers, directors and below (may be attached separately):	
THIS STATION DOES NOT OF RACE OR ETHNICITY	T DISCRIMINATE OR PERMIT DISCRIM IN THE PLACEMENT OF ADVERTISING	INATION ON THE BASIS .
easonable attorney's fees, that divertisement(s). For the aboranscript, or tape, which will	harmless the station for any damages or liabil t may ensue from the broadcast of the above-to- to-estated broadcast(s), I also agree to prepared to the station at least	equesicu
efore the time of the schedu	SIGNED BY ISSUE ADVERTIS	SED
10-12-18 X		(T) 283-7993
Date	0//	tact Phone Number
TO BE SIG	ENED BY STATION REPRES	ENTATIVE
☐ Accepted	Accepted in Part	☐ Rejected
Signature	Printed Name	Title



From: Jason Finkelberg

Phone: (845) 471-1500

Email: jason.finkelberg@townsquaremedia.com

10/10/2018 1:57 PM

Flight Dates: 10/15/2018 - 11/06/2018

Demo: P 12+

Radio Market: NEWBURGH-MIDDLETOWN, NY Survey: SP18 / FA17

Geography: TSA

	Daypart	Daypart Title	Length	Spots	Unit Rate	Total Cost	Notes
Radio Total	一日 一			278	\$58.71	\$14,985.00	
WPDH-FW				86	\$105.51	\$10,445,00	
Flight A - 3 wks (10/15, 10/22, 10/29)							
				75	\$103.00	\$7,725.00	
One Week Total	D. Andrew			25	\$103.00	\$2,575.00	
V-1000-00-00-00-00-00-00-00-00-00-00-00-0	M-F 6A-10A	Morning Drive	09	ß	\$125.00	\$625.00	
	M-F 10A-3P	Midday	90	ស	\$120.00	\$600.00	
	M-F 3P-7P	Afternoon Drive	09	5	\$125.00	\$625.00	
	M-F 7P-12M	Evening	90	5	\$65.00	\$325.00	
	M-Su 6A-7P		09	5	\$80.00	\$400.00	
Flight A - 1 wk (†1/05)							
	¢			22	\$113.33	\$2,720.00	
One Week Total	ASSA TATAL T	A Very company	ř	24	\$113.33	\$2,720.00	
Andrea (meneralennes) Andrea (meneralennes) (meneralennes)	M 6A-10A	WAND WANT OF THE PARTY OF THE P	09	7	\$125.00	\$500.00	
Annual Company of the	M 10A-3P	обана Тана Мондентенняння обин проположе правилентального станального положения	09	4	\$120.00	\$480.00	
and which the contract of the	M 3P-7P	DEL PROMOTOR APPARENTANTA MARKANATA AN AMARKA SAN ANNAKA SAN MARKANATA JAMA	09	A management and a contraction of the contraction o	\$125.00	\$500.00	elements is within the contraction and its female of entirely and extendion to the second
	M 7P-12M	ti filminininininin tanini tahanininin Arabianan teo i o o'i assandanana	09	7	\$65.00	\$260.00	
	Tu 6A-10A	MANAGEMENT AND	09	7	\$125.00	\$500.00	
The second secon	Tu 10A-3P		09	4	\$120.00	\$480.00	rade.
WZAD-FM				180	\$25.22	\$4,540.00	
Flight A - 4 wks (10/15, 10/22, 10/29, 11/05)	(90)						
				160	\$25.00	\$4,000.00	
One Week Total				40	\$25.00	\$1,000.00	
	M-F 6A-10A	Morning Drive	09	æ	\$30.00	\$240.00	
	M-F 10A-3P	Midday	90	80	\$30.00	\$240.00	

The first demo listed is the Primary Demo.

This report was created in TAPSCAN using the following Radio information: NEWBURGH-MIDDLETOWN, NY; SP18 / FA17; TSA; Multiple Dayparts Used; P 12+; See Detailed Sourcing Page for Complete Details. Copyright © 2018 The Nielsen Company. All rights reserved.





From: Jason Finkelberg

Phone: (845) 471-1500

Email: jason.finkelberg@townsquaremedia.com

10/10/2018 1:57 PM

	Daypart	Daypart Title	Length	Spots	Unit Rate	Total Cost	Notes
WZAD-FM (confinued)		8					
VARA JAROONAAN ARABAMAAAAA AAAA AAAAAAAAAAAAAAAA AAAAAAAA	M-F 3P-7P	Affernoon Drive	09	60	\$30.00	\$240.00	
	M-F 7P-12M	Evening	90	60	\$15.00	\$120.00	440
	M-Su 6A-7P		90	80	\$20.00	\$160.00	2000000000
Flight A - 1 wk (11/05)	Andrew S				n non-nontrop decomp	and the state of t	
				20	\$27.00	\$540.00	
One Week Total	Process	ter n		20	\$27.00	\$540.00	
	M 6A-10A	PREPARATION OF THE ACTION OF T	09	4	\$30.00	\$120.00	
	M 10A-3P	вексиналалан лаган үндөөрөөрөрөрөө каналалалаларын лаганган аналаган анала	09	4	\$30.00	\$120.00	
APPRINTED THE APPLICATION AND APPLICATIONS OF THE PROPERTY OF	M 3P-7P	Machine Makanananan penggunan kananan anakaranan	09	4	\$30.00	\$120.00	2 200
miles oppositional opposition of the second opposition of the second opposition oppositi	M 7P-12M	одинаридова.	09	4	\$15.00	\$60.00	
	Tu 6A-10A		9	8	\$30.00	\$120 OU	ANTI-MANAGEMENT PROPERTY AND ADDRESS OF THE PROPERTY AND A

NYS 42nd



From: Jason Finkelberg

Phone: (845) 471-1500

Email: jason.finkelberg@townsquaremedia.com

10/10/2018 1:57 PM

Schedule Grand Totals: 4 Weeks

Stations	Total Cost	Spots
Radio Total		279
WPDHFM	\$10,445.00	66
WZADFIM	\$4,540.00	180

Accepted by Station	Date
Accepted by Client	Date

This station does not discriminate in the sale of advertising time and will accept no advertising which is placed with an intent to discriminate on the basis of race, gender or ethnicity. Advertiser hereby certifies that it is not buying broadcasting air time under this advertising sales contract for a discriminatory purpose, including but not limited to decisions not to place advertising on particular stations on the basis of race, gender, national origin or ancestry.



The first demo listed is the Primary Demo.

This report was created in TAPSCAN using the following Radio information: NEWBURGH-MIDDLETOWN, NY; SP18 / FA17; TSA; Multiple Daypans Used; P 12+; See Detailed Sourcing Page for Complete Details.

Detailed Sourcing Summary

Radio Market: NEWBURGH-MIDDLETOWN, NY

Survey: Average of Nielsen Radio Spring 2018, Nielsen Radio Fall 2017

Daypart: Multiple Dayparts Used

Demo/Intab/Population:

e/Gender	Population	Intab
rsons 12+ (Primary)	800,500	3,257

Stations: User Selected

Estimates reported for dayparts which start and end between 12m and 5a are based on the 5a-5a broadcast day. Estimates for all other dayparts are based on the 12m-12m calendar day. Please note: The intab reported is for the full twelve weeks of the survey. Users should note that reports run on fewer than twelve weeks are based on smaller sample sizes.

Midnight-Midnight, during the survey period. If a current Nielsen client does not meet this minimum reporting standard, Nielsen will force report the station as long as credited listening is received from at Stations qualify to be reported if they have received credit for five or more minutes of listening and meet a minimum reporting standard of 0.1 AQH unrounded rating in the survey area, Monday-Sunday

Estimates are derived from the diaries that provided the audience data for the Nielsen Radio Market Report and are subject to the qualifications and limitations stated in that Report. The TAPSCAN Web software product is accredited by the Media Rating Council and reports both accredited and non-accredited and non-accredited and non-accredited by the Media Rating Council and reports and data available through TAPSCAN, click here: http://www.arbitron.com/downloads/MRC_Accredited_Services_Markets.pdf

The Reach and Frequency Model utilized by Nielsen is formulated on the bases of the Harris Model, a Linear Frequency reach-and-frequency model, and the Slide Rule audience (cume) growth model.

Ascription Website:

http://ascription.nielsen.com

Rating Reliability Estimator:

A Nielsen Radio eBook Special Notices and Station Activities document has been generated for each survey. Please select the hyperlink to the survey that interests you. https://ebook.nielsen.com/secure/RR8/2018SPR/0542/pdfs/SpecialNotices.pdf

https://ebook.nielsen.com/secure/RR8/2017FAL/0542/pdfs/SpecialNotices.pdf

Report: Copyright 2008 Nielsen. Software: Copyright 2008-2018 Nielsen. Nielsen Radio Data: Copyright 2017-2018 Nielsen. All rights reserved. For use pursuant to a license from The Nielsen Company. Subject to the limitations and qualifications disclosed in the data and reports.

TAPSCAN is a mark of TAPSCAN Inc. used under license. Nielsen and the Nielsen logo are trademarks or registered trademarks of CZT/ACN Trademarks, L.L.C.

Copyright © 2018 The Nielsen Company. All rights reserved.

